ST EE

EREVERINERFET

=

J7

= (REA)

48 1700 58 1730 68 1730 7R 1730 88 1730 98 1730
SPEIBIARE~4/T 5 EFIUZLF Ty OBE (6BFT)
1w 1| & e 1| 1|a 1 |p|2808 - mpigE(r - 27
BRERE (2FFLEE0H 25HAE)
BRIE#E BEEHD LSElISES
=z o L (R N
2 | sle 1FEZDNZDR slg AEHFTRAE2 (Bh~55F 4h~65F) 2| x o+ o |
#®B) &Ek=8 HEEHOG [IESIAW
3|x 3|+ 3w EHDTRAE2 (Bh~3F 4h~45F) 3l* 3le alx
#&B) #&£0bn8 ENTZAH2 Bh~1F 4h~25F) RFE= (55 25HAl - RORAE(3 - 45)
4le 4l alx BwRIREZ (2.355%) 4le D5TEHQ allm 4%
#®B) CEEsmB HEEE/\NR ERAAMIRER
5|+ 5|5 5% 5|+ 5 | 5le ?,,,U-%Eb&§(5~6ﬁ)
RF= (25)
=17 =] D5TFBD
6|8 6 |w 6| 6|8 6| % 6|t
#16 FEBRBE9.00~1030 PEIEE FaliEE
oA P, .
A INZ210:40 (13812 71 1 T4 SISRIISEERRL 71+ e 7 1% 7lg
EIER820 1BER830 [IESIAW LSElISES EFIZALF Ty ORENE
- g
g | g FHTHFEAFI1000 s | % al= 8w alle sls
1F265/ (250 365/ 35
BEEBR
1ELE268 - RFOTRIEE (~118) REZEROQ BRI T ORI LSElISES Rl
b i R
ol 254 F SishE 9la &= (35) ols olx 9|+ olw
(2~ 6 FRRRIB
BEER
1EFE268 - RFOTRIEE(~118) REHPED
10 254 F SishEE a6l 10l w ARRZ (1 - 25 10l % 1ol= 10l
(2~BFHBRDHD)
XBEE/ N
1 FEASREHE (4 5/ 5/2%0) 15RIBR RFE& (65 #RE8Won8) [IES: AW
= SHEIE (~
1 1FERFOTRIEE(~118) 11la 1] 11le 1|8 1] %
NZFESES (PIRH)
REZERD
FRIIRE
SE| W 7 ERS <
il 12g$,§J1L\5"—IJDﬂFi 168FT 12| % a2l 12w 12]e
LSlISES RIREIR
13|8 13| w 13| & 138 13| % 13+
BE SIS LSlISES P T ARRES - EEEXEIDFS KiFiRERE (258 T)
14| p| | FEOBABREG,/ 2370 14|k 14+ 148 14| & 14(8
RBLEHE (1 - 254
258« ]H - BHRES « 65)
RS AREZ (5 - 65) LSlISES #B E@EDNB)
(= Ty
15| W 15| 4| FERE 15|8 15| w 15| & 15[ 8
IR RE RFE= (25) IMERRES (1 - 450 LSlISES [SlISES
16|k 16| 16| A 16|k 16[+ 16| W
EEFN - 28! BE (Fv1LEL) HRIB®R HEHADB] [SlISES
=138 B . ES . . 55 BiE
17 % 25H8 - /D - BHREN - 25) a7l 17w 17l % B (1 -3 5%F) BB e 17l
[IES: AW
SEFN - FWRRWE (B - FVS51Y FE) 15RI8R SHEHB (2.4 - 635 BRI
—y IEE=PNeN SR e85 .
18 Wﬁé R, REZSRQ wla 18| x BEaREs (1 - 498 18le = 18| %
25HAl - RO - WHRE (3 - 45)
RELZEHE (1 - 28%) FHEB
FE10SHB - PTAKES - ZREHS [E=i- VAW RFE (15
VSIS (om0
19|+ 10| | EHRE(EFH) 19| & 19+ 19| w 19| &
EFIZILF T v OREANE
[SlISES BERERTEESRD
20|8 20| w| FEEZR 20| & 20|8 20| %k 20|+
RBLEEHE (3~6F%)
REREE (198D [SlISES P T AREE - EEXIIDIFXTRE #&B) BoB
21|38 21|k 21|+ 21|8 21| & 21|8
[IES: VAW ERHMED [SlISES D5TEHS
22| w 20| 4| PRHED (8- 48 22|8 22| W 22| & 22|/
[IESIAW
@RI@EsD RFE= (15 BERERTESRQ [SlISES HRBMDDB)
Y X ~ )=t
23|k 23| & 23|/ BRI (1~S8 R 23| % 23|+ 23| w
@RIm#2 HRIB®R S AWe
24|k 24|t oa| w| EERED 24| & 24(8 24|k
ERWE (4~65) BIAH
HRIB®R 1 PRARER FRiiRE S5EBEEHE1 BB (R1/VUVER)
335) W==8E)\
25| % 258 25| % SRS 25| % 25| 8 25| & BERE/N2
BEBHD =S (FHB) BFKR%E~8/25 poded il GE S S5EBafiE 288
26|t 26| 8 26| A 26|t 26| | TR 26| &
BB EBRABER BIEOm=E 3085
27|8 27| w 07| o BUEROERRC 27|8 27| % 27|+
BRIED LSlISES BRINFREBR [MESAWE
2sls 28l % FEHTRD (Bh~5F 4h~65F) 28|+ 2= o8| % zlle
(#%B) 1BFn8 EHTRED (Bh~3F 4h~45F) EBYRFHE $ER (3H)
29| W 29| & e 29| B 29| W 29| & 29| 8
FRIREE REZESR@ R=EREB
30|k 30|e FEHTRAED Bh~1F 4h~25F) 20| EERFHE 30|k 30l £ 30| w
wRgZ (1.465)
RFER (45)
31|t 31| & 318




SXREIVER/NE

MR EFET

TEFPER X J}Zﬂ%)

SBITEFE4R IR

108 1700 118 1600 128 1600 16:00 28 1600 38 17:00
A= | FERRR—MRNE ®BGTB)
1 [x 1t 1|8 1| * E 1|8
LIS B
2|* 2|\ 2w 2|e 2|m 2|8
D5TiEBD %8 (ibn8) TFRiE%E [SlISES
3|® 3B 3|x 3|t 3|w 3w
FERRIRBNRES HEEE/\NR RIS
4|t 4w 4% 4|8 4 |k 4| x| OFEEESR
158182 NEE (65 EEE/NZ
5|8 5|x 5|® 5|8 ES 5|x
EEL/N BER (65 NER (5%
6lm 6 |* E 6w 6|® 6|2
DS5TEHE
7w HE HE! 7| 7|t 7|
8| x 8|+ 8|m 8|x SE g|a
6 FEFIRT1 BB 15RIB3
Do\
o | x|BEBZ 9|m 9w 9|= o|m olm
GEFEFIR{T 288 HRIBR
10| 10| B 10| % 10|+ 10| w 10| w
RAIBR RE@ERE0D RRIER
1]+ 11| % 1] 1|8 1] 1] %
1581852 B (EEADB) LSS RS
12| 12| % 12| 12| B 12| 12|
(#RB) AIN—vn8 NEE (49
13| 8 13| % 13|+ 13| w 13| & 13| 2
BER (45
14w 14| 2 14| 14| % 14|+ 14|+
SEHABEN
15 % 15|+ 15| 8 15| | B OBHIER 15| 15|8
LIS
16| & 16|8 16| w 16| & 16| 8 16| 8
D57 EEG LIS ESSIS
17| 17|13 17[ 17|+ 17| w 17| w
[MESIAWE ESSIS
18|+ 18| w 18| & 18|\ 18| % 1g| x| FHRERIOER
EHTRE (Bh~18F 4h~25F) NEx (15 EFIILAFTvOBEY (238FT) F1 400%%AEEHRSR
19|8 19| % 19| 19| 19| % 19| &
#EHF AL (Bh~3H 4h~4%) ®WBEE/\R 0B EDOD)
S
20(8 20| | BEE/N2 20|+ 20| w 20| 20| &
RER (58
21|w 21| 4| FPTA (Sh~5& 4h~6%) 21|\ 21| % 21|+ 21|t
S AWe
22| % 22|t 22| 22| & 228 22|8
[MESIAWE RB @HEDB) LIS R (#RB)REHED
23| & 238 23w 23| & 23| 23|B
REKB 2 PHRIREER RIBE BT - BEHEDN
24| % 24|58 2a| | B SRR 24|+ 24| 24| w
EHTRE (Bh~18F 4h~2%5F) KFKE~1/14 RIBE FERIRE~3/31
25|+ 25| w 25| & 258 25k 25 %
LRl EF)ZILTF v ORLONB SEE (&5
26|8 26| x| FPTA (Bh~3& 4h~a%) 26| & 26|8 26| & 26| %
D72 (3h~5& 4h~6H)
27|83 27| & 27|+ 27| w 27| 27l&
SHE (%%
28| w 28| & 28|8 28| % 28|+ 28|+
LIS NFER (25
g 15
2| k| T ERERRELHE 20|+ 20| 8 20| % 20|8
NER (B3H)
30| * 308 30| w 30| & 30|
BESEE
31|% 31[x 31|t 31| w




